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Reasoning Mega Quiz for SSC Tier-1 (Solutions) 

 

S1. Ans.(c) 
Sol.  

 
 
S2. Ans.(a) 

Sol.  
 
S3. Ans.(c) 
Sol.  

 
 
S4. Ans.(c) 
Sol.  

 
 
S5. Ans.(b) 
Sol.  

 
 
S6. Ans.(d)  

Sol.  
 
S7. Ans.(c) 
Sol.  

 
 
S8. Ans.(d) 

Sol.  
 
S9. Ans.(d) 
Sol.  
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S10. Ans.(a) 

Sol.  

 
 

S11. Ans.(a) 

Sol.  

The pattern is -66, -55, -44, -33, -22, …… 

So, missing term = 105 - 11 = 94 

 

S12. Ans.(b) 

Sol.  

The pattern is ×3, +4, ×5, +6, ×7, ….. 

So, missing tem = 1127 + 8 = 1135  

 

S13. Ans.(a) 

Sol.  

   
 

S14. Ans.(c) 

Sol.  

By making the interchanges given in (a), we get the question as 2 - 5 + 3 = 4 or 0 = 4, which is false. 

By making the interchanges given in (b), we get the equation as 3 - 2 + 5 = 4 or 6 = 4, which is false.  

By making the interchanges given in (c), we get the equation as 5 - 3 + 2 = 4 or 4 = 4, which is true.  

So, the answer is (c).  

 

S15. Ans.(b) 

Sol. Clearly, nine days ago, it was Thursday.  

∴ Today is Saturday.   

 

S16. Ans.(d) 

Sol. The new number formed after rearrangement is 6 4 7 9 8 3 2 5  

The seventh digit from the right end is 4. The third digit to the right of 4 is 8. 

 

S17. Ans.(a) 

Sol. The given series when written in the reserve order becomes:  

13, 11, 5, 0, 1, 2, 6, 4, 8, 3, 0, 7, 9, 3, 7  

Then 7th number from the left is 6. The 4th number to the right is 6 is 0.   

 

S18. Ans.(a)  

Sol. The letters, on rearrangement, form the word ‘ABHORRENCE’ meaning ‘Hatred’, the opposite of 

which is ‘Liking’.  

So, the answer is (a).  
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S19. Ans.(d) 

Sol.  

 
 

S20. Ans.(c) 

Sol. Each term consist of consecutive letters in order. The number of letters in the terms goes on 

increasing by one at each step. Also, there is a gap of one letter between the last letter of the first term 

and the first term letter of the second term; a gap of two letters between the last letter of the second term 

and the first letter of the third term; and so on. So, there should be a gap of three letters between the last 

letter of the third term and the first letter of the desired term.    

 

So , The answer is = MNOP 

 

S21. Ans.(c) 

Sol. 

Except (c) all follow 1st × 3 + 2 Pattern. 

 

S22. Ans.(b) 

Sol. 

 
 

S23. Ans.(d) 

Sol. 

All three use Raw material except teacher. 

 

S24. Ans.(a) 

Sol. 

 
 

S25. Ans.(B) 

 

S26. Ans.(c) 

Sol. SITA, wife of RAM 

UTTARA, wife of ABHIMANYU. 
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S27. Ans.(c) 

Sol. 

4 × 8 – 16 ÷ 4 + 6 ÷ 3 + 2 

32 – 4 + 2 + 2 = 32 

 

S28. Ans.(c) 

Sol. All follow (1st)³ + 1 

Except (c) 

 

S29. Ans.(a) 

Sol. 

 
 

S30. Ans.(d) 
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